Chapter 17 Aggregate Demand and Aggregate Supply

Study Guide

17.1  Aggregate Demand

1. Aggregate demand = Households’ demand +                              +
                             +                             
2. Other things being constant, the aggregate demand (AD) curve is (upward sloping / downward sloping) for the following three reasons: 
- Wealth effect (                                )

-                               
-                               
3. Explain why the aggregate demand curve is downward sloping with the wealth effect.
4. Other things being constant, a decrease in an economy’s general price level results in an increase in the (aggregate demand / total quantity of output demanded).
5. Changes in aggregate demand can be caused by changes in any factor affecting the expenditures of an economy other than the price level. When there is an increase in aggregate demand, the AD curve will shift to the (right / left).
6. State the effects of the following events on the aggregate demand.

	
	Aggregate demand

(increases / decreases / does not change)

	(a) a decrease in the interest rate
	                 

	(b) a decrease in the salaries tax rate
	increases

	(c) an increase in the profits tax rate
	                 

	(d) firms are optimistic about their business prospects
	                 

	(e) there is an economic recession in the major trading partners of an economy
	                 


17.2  Aggregate Supply

7. Aggregate supply (AS) refers to                                          
                                                                       
                                          in a given period of time.
8. In macroeconomics,
- the                   refers to the situation in which at least some people in the economy do not fully recognise and adjust to the changes in economic conditions.

- the                   refers to the situation in which all people in the economy fully recognise and adjust to the changes in economic conditions.
9. The short run aggregate supply (SRAS) curve is (upward sloping / 
downward sloping) because of the imperfect adjustment of input and output prices resulting from imperfect market information, as well as price and wage rigidity.
10. In the short run, the imperfect adjustment of input and output prices will lead to (an increase / a decrease) in the real output supplied when there is a decrease in the general price level.
11. In the long run, an economy’s total output level is determined by its productive capacity, which in turn depends on the                and                of its factors of production.
12. In the long run, the output level remains at the                             
                     (also called potential output level), no matter how the price level changes.
13. The long run aggregate supply (LRAS) curve is vertical at the                 
                  level.
14. State the effects of the following events on the short run aggregate supply and the long run aggregate supply.
	
	Short run 

aggregate supply 
(increases / decreases / does not change)
	Long run 

aggregate supply 
(increases / decreases / does not change)

	(a) an improvement in technology
	                
	increases

	(b) an increase in the price of factors

of production
	                
	                

	(c) a decrease in the working population
	                
	                

	(d) firms expect the price level to decrease in the future
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